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lnstructions : 1) All three Sections are compulsory.
2) Answer must be wriften

in English.

SECTION _ A
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Answer any four of the following. Each answer carries 2 marks.
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1. What is social perception ?
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2. What is stereotype ?
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3. Define Attitude.
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4. What is social facilitation ?
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5. What is Anti-Social behaviour ?
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6. What is conflict ?
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SECTION _ B
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Answer any four of the following. Each answer carries 5 marks. (4x5=20)
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'1. Explain the scope of social psychology.
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2. Explain non-verbal communication.
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3. Explain Kelly's theory of attribution.
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4. Explain measurement of attitude.
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5. Explain Asch's studies on confirmity.
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6. Explain modern theory of Aggression.
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.N SECTION _ C
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Answer any four of the following. Each answer carries 8 marks. (4x8=32)
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1. Explain social perception.

-:<-r9= 
: - :.J\^r*i+- -.+S,:ne]lJ,(!u *J "r r1i* ?wJ.Ja! rc^,,fJn,

2. Explain prejudice.
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3. Explain Jones and Davis theory of attribution.
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4. Explain Latane and Darley's 5 crucial steps of an emergency.
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5. Explain categories of violence.
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6. Explain forms of antisocial behaviour.
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